
Answer 

Bid 2S showing weak 2. 

What does partner bid with  

 K 8 7 6  
 A K 8 

 J 8 6 

 8 4 3 
 

 Bid 4S to show a weak hand with 4 spades. 

Contract would go 1 down. 

Here are the hands: 

           K 8 7 6 

           A K 8 

          J 8 6 

          8 4 3 

 10 5                    Q 

 J 6 5 2                    Q 10 9 3 

 A 10 9 7                    K 4 

 Q 5 2                   A K J 10 9 7 

          A J 9 4 3 2  

          7 4 

          Q 5 3 2 

          6 
 

E                      S                  W                     N 
1C                    2S               Pass                4 S 
 
Does E bid 5C or pass or double? 
See board 18 Tuesday 25th March for all results. 
My opp bid 5C.                  


